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<AZL+ERBE . IXNTOERNHE > OFKFBEDIREISEICIEZEFTE

14 48 | 5A | 6A | 7B | 8A | 9A [10A[11RA|12A| 1B | 2B | 3A it
SEFRAFE 5,650 5,650
BREE 500/ 500[ 500 5500 500 500] 500 500 500 500 500[ 500 6,000
EBNRIESE]| 1,700 1,700 1,700 1,700] 1,700| 1,700| 1,700| 1,700] 1,700 1,700 1,700 1,700] 20,400
120 S FE 3L 3,000 3,000
EREE 300 300] 300] 300] 300[ 300] 300 300] 300] 300/ 300 300 3,600
RITHEILE 350 23,000 24,600 47,950
SESE 23,000 23,000
BEHRUEBSHE 39,000 36,000 34,600 109,600
OERE B E1m 5811H(H) %E2[@ 78108 (&) %£3E 12F108 (K)
<EBEH BEFRENEIBESOZBNREBERG A TOEENTR > OREHDOIRBILFICSEEFTE

1545 48 | sA | 6eA | 7R | 8A | 9A |10A|11A|128| 1A | 2A | 3R Hi
SEZRIEER]| 9900 9,900 9900 9900 9,900| 9,900] 9,900] 9,900 9,900] 9,900] 9,900| 9,900 118,800
BEHORBSHE 29,700 29,700 9,900] 9,900] 9,900] 9,900] 9,900 9,900] 118,800
OERE A 6/10(7K) 9/10(K) 1/12( 111000l 210001 /12000 2/100GK)  3/100K)
<FREB . IRXRTOERIHAE > OFRFEEDREIIEICEEFE

24 48 5H 6 A 78 8H 98 (10B |11B|12A| 1A 28 3AH &
BREE 500 500[ 500[ 500 500 500/ 500 500f 5000 500 500[ 500 6,000
ERiEENR1ESE| 1,700 1,700| 1,700 1,700] 1,700| 1,700| 1,700 1,700} 1,700| 1,700 1,700| 1,700 20,400
ER=E 300 300[ 300[ 300] 300] 300/ 300/ 300] 300/ 300[ 300[ 300 3,600
AT E 16,200 28,200 0 44,400
FERE 14,800 2,800 2,600 20,200
BENBRIREBSIHE 41,000 41,000 12,600 94,600
OERER %10 48108 (%) %2E 7H10H (£) ¥£3E 128108 (K)
<BEH SEEREURZIESOZHRNFZEERG RTOE/XNTRZ > OBEHOERBILFE(CIODZFE

2645 AF | sH | 6RA | 7R | 8A | 9A |10A11RA|12A| 1B | 2B | 3A it
g ER | 9,900 9,900] 9,900 9,900 9,900[ 9,900] 9,900] 9.900] 9.900] 9,900] 9,900 9,900] 118,800
BEraorsastiE| 9,900 9,900] 9,900 29,700 9,900] 9,900] 9,900] 9,900] 9.900[ 9,900] 118800
OFEREZ AR 4/10(£)|5/11(A)| 6/10(K) 9/10(K) 10/12(A)|11/10 o) 12/10)) 171200  2/1007K)| 3/100K)
<FREBE . IXTOERIHAE>OFREEDREIIEICEEFE

3FEHE 48 5H 6 A 78 8H 98 |10R |11B|12A| 1A 2H 3A &
BREE 500 500[ 500[ 500 500 500/ 500 500f 5000 500 500[ 500 6,000
EBNRIESE]| 1,700[ 1,700 1,700 1,700] 1,700| 1,700| 1,700| 1,700] 1,700 1,700 1,700 1,700] 20,400
ERRE 300 300[ 300[ 300] 300] 300/ 300/ 300] 300/ 300[ 300[ 300 3,600
ZETILALELS 5,000 5,000 10,000
FERE 12,000 12,000
BEHRRE AT 22,000 15,000 15,000 52,000
HEERER £1[E 48108 (&) gE2E 7H10H (£) %3E 128108 (K)
<BEH BEFIREURFZIESOZHRNFZEERG R TOE/ENTR > OBREHORBILFECIRETFE

3FEHE 48 | sA | 6A | 7R | 8A | 9A |10A|11A|128| 1B | 2A | 3R &t
EEREER]| 9900] 9,900 9900 9900 9,900] 9,900] 9.900] 9,900 9,900] 9,900] 9,900| 9,900 118,800
BEpoEsastE| 9,900 9,900 9,900 29,700 9,900] 9,900] 9,900] 9,900 19,800 118,800
OFERER" 4/10(£)]5/11(8)] 6/10(5K) 9/10(K) 10712117100 12/10R)] 1/120K) 2/10(7K)




